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Puzzle #981

Answer




















9,900. 


After a little inspection, it can be seen that the position (p) of the number times 1 less than the position of the number will give you the result.


p (p–1) = result


The number 2 is in second position, and 2 (2–1) = 2


The number 6 is in third position, and 3 (3–1) = 6


The number 30 is in sixth position, and 6 (6–1) = 30


The 100th term is 100 (100–1) = 100 x 99 = 9,900





Below is the beginning of a


mathematical sequence that


continues to infinity ...








0    2    6    12    20    30    42








What is the 100th number


of this sequence?








